y § S0®

One-Variable Linear Equations (ax+b=c)

Name:

C axt2=18

8 —5=67

bx—6=24

10.

&+ 8=32

Sx+2=32

7 8y+2=750

4x—5=23

8.

dx+5=13

Ix—5=1

3x—6=12
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Date: Score:

(OS]

2x+2=20

6x+2=44

4x—-5=19

12.

Sx+7=42

3x—7=14
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y § S0®

One-Variable Linear Equations (ax+b=c)

Name:

L g+ 2=18
x=4

Y ogy—5=67
x=9

T ex—6=124
x=15

U gr+8=32
x=3

Yosx+2=32
x=6

8.

8+ 2=50
xX=6
dx—5=23
x=17
4x+5=13
x=2
Ix—5=1
x=2
3Ix—6=12
xX=6

Date:

(OS]
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Score:

2x+2=20
x=9
6x+2=44
x=17
dx—5=19
xX=6
S5x+7=42
x=17
Ix—7=14
x=17
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